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14 November 2014 Examl Review

(1) State whether each statement is true or false.
(a) If f is continuous on (—00, 00) then f has a derivative defined on (—o0, 00).
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(b) If f is continuous on (—o0, 00) then f has an antiderivative defined on (—o0, 00).
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(d) If f(z) is continuous on [a, b] then
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(2) Evaluate the definite integral. Simplify your answer.
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(3) Evaluate the definite integral. Simplify your answer.
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(4) Evaluate the indefinite integral.
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(5) Evaluate the indefinite integral.
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(6) Evaluate the indefinite integral.
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(7) A particle moves along the z-axis with position z(t), velocity v(t), and acceleration a(t) = sin(2mt).
Given that z(1/2) = 7 and v(1/4) = 0, find the particle’s position at time ¢ = 5.
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(8) Evaluate the following sum/limit (look in your notes for the summation formulas).
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(9) Find an equation of the line tangent to the graph of f (z) = / e’ dt at the point z = 0.
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(10) Suppose that f(1) = 10 and that f'(z) > 2 for 1 < z < 4. Use the mean value theorem to

determine the smallest value that f(4) can be. j

Nor THE HVT
Foa INTEGREALS

MVT -
Tge B A C (N (1,4) Fued THET
B iter = £ () —FE)
“+—1




(11) The graph below shows the velocity v(t) of a particle. You may assume that any curve that looks
like a circle is, in fact, a circle.
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(a) What is the displacement of the particle from 0 <t < 107
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(b) What is the total distance that the particle traveled from 0 < ¢ < 107
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(c) What is the average value of the velocity v(t) for 6 <t < 97
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(12) Suppose that f is an odd function and g is an even function, and you are given the values of the
following integrals:
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/: g(z)dz = —1

Evaluate the following definite integrals.
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